
)RU� WKH� DSSOLFDWLRQV� WKDW� UHTXLUH� D� OLWWOH�PRUH� WKDQ� LW¶V�0XOWL]RQH� FRXVLQ� FDQ� SURYLGH�� WKH� DOO�1HZ�6PDUW�
3XPS�0XOWL]RQH�XWLOL]HV�WKH�ODWHVW� LQ�9DULDEOH�6SHHG�7HFKQRORJ\�� �'HVLJQHG�IRU�WKH�KLJK�HQG�UHVLGHQWLDO�RU�
FRPPHUFLDO� DSSOLFDWLRQV�� WKH� 6PDUW� 3XPS�0XOWL]RQH� FDQ� EH� XVHG�ZLWK� VLQJOH� SKDVH� SRZHU� WR� NHHS� WKLQJV�
VLPSOH���:LWK�QR�DGGHG�FRQWUROV�WR�FRPSOLFDWH�\RXU�V\VWHP�WKH�6PDUW�3XPS�0XOWL]RQH�LV�YHU\�XVHU�IULHQGO\�
DQG�LV�HDVLO\�DGMXVWDEOH�DQG�FXVWRPL]HG�IRU�\RXU�VRXUFH�VLGH�JHRWKHUPDO�V\VWHPV�
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:KHQ�FRPSDUHG�WR�PXOWLSOH�VPDOOHU�SXPSV��
W\SLFDOO\�XVHG�IRU�HDFK�KHDW�SXPS�]RQH�\RX��
ZLOO�QRWLFH�WKH�HIILFLHQF\�RQ�VPDOOHU�PRWRUV�LV�
LQ�WKH�UDQJH�RI���������WR�\LHOG�D�YHU\�
LQHIILFLHQW�RSHUDWLRQ� 7KH�6PDUW�3XPS�����������������
0XOWL]RQH�XWLOL]HV�HIILFLHQW�PRWRU�WHFKQRORJ\��
ZLWK�LWV�RQH�VLQJOH�PRWRU�RIIHULQJ������������
HIILFLHQW�RSHUDWLRQ� ,Q�IDFW�OHVV�KRUVH�SRZHU�
ZLOO�EH�XVHG�ZLWK�D�VLQJOH�SXPS�PRWRU�
FRPELQDWLRQ�YHUVHV�VHYHUDO�VPDOO�FLUFXODWRUV�����
IRU�\RXU�PXOWL]RQH�KHDW�SXPS�V\VWHP�
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:LWK�RQO\�RQH�SXPS�DQG�PRWRU�WR�LQVWDOO��
FRQWUDFWRU�LQVWDOODWLRQ�WLPH�LV�UHGXFHG���$OO
WKH�ZRUN�FRQVLVWV�RI�VHWWLQJ�WKH�*7� FDQLVWHU��
PRXQWLQJ�WKH�SXPS�WR�WKH�SURYLGHG�IODQJH���
PRXQW�WKH�PRWRU�WR�WKH�SXPS��PRXQW�WKH��������
YDULDEOH�VSHHG�GULYH�XQLW�RQ�WKH�DGMDFHQW
ZDOO�DQG�WKH�HOHFWULFDO�SRZHU���,WV�WKDW�VLPSOH
\RXU�V\VWHP�ZLOO�EH�UHDG\�WR�UXQ�
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:KHQ�\RX�ORRN�DW�WKH�FRVW�RI�SXUFKDVLQJ�DQG�
LQVWDOOLQJ�VHYHUDO�SXPSV�VZLWFKLQJ�WR�WKH�6PDUW
3XPS�0XOWL]RQH�ZLOO�VDYH�PRUH�WKDQ�MXVW
HQHUJ\��
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7KH�6PDUW�3XPS�0XOWL]RQH�XWLOL]HV�RQH�RI�WKH
LQGXVWULHV�PRVW�SRSXODU�LQ�OLQH�FLUFXODWRUV��7KLV
EXOOHW�SURRI�SXPS�LV�YHU\�UHOLDEOH KRZHYHU�LQ�WKH
HYHQW�RI�D�SXPS�IDLOXUH��SDUWV�DQG�TXDOLILHG
WHFKQLFLDQV�DUH�UHDGLO\�DYDLODEOH�
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6HDODEOH�/LG ± 3URYLGHV�IRU�D�FORVHG�VHDOHG�V\VWHP
ZKLOH�DOORZLQJ�IRU�HDVH�RI�DFFHVV�WR�VDPSOH�IOXLG�DQG�
PHDVXUH�IORZ�UDWH�

,QOHW�&RQQHFWLRQ ± 6WDLQOHVV�6WHHO 037 FRQQHFWLRQ�SURYLGHG�DV�
VWDQGDUG��ZLWK�YDULRXV�WUDQVLWLRQV�DYDLODEOH�XSRQ�UHTXHVW��6L]H�EDVHG�RQ�
FDQLVWHU�VL]H��VHH�FKDUW��

&KHFN�9DOYH ± $�FKHFN�YDOYH�LV SURYLGHG�EHIRUH�WKH SXPS�DVVXULQJ�
SURSHU�IORZ�DQG�UHOLDEOH�SXPS�RSHUDWLRQ�

&DQLVWHU ± 3URYLGHV�D�VWDQGLQJ�FROXPQ�RI�ZDWHU�RQ�WKH�VXFWLRQ�VLGH�RI�
WKH�SXPS�WR�LQVXUH�D�IORRGHG�YROXWH�DQG�UHOLDEOH�SXPS�RSHUDWLRQ���6L]H�
UHTXLUHG�LV�EDVHG�RQ�PD[�ORDG�GHVLJQ�IORZ�UDWH��VHH�FKDUW��

2SWLRQDO�,VRODWLRQ 9DOYH ± $Q�LVRODWLRQ�YDOYH�LV�DYDLODEOH�RQ�WKH�
SXPS�GLVFKDUJH�IRU�HDVH�RI�PDLQWHQDQFH�QRW�VKRZQ��

9DULDEOH�6SHHG�3XPS�&RQWURO ± 7KH�6PDUW�3XPS�'ULYH�LV�UREXVW�
DQG�GHVLJQHG�WR�RSHUDWH�LQ�VRPH�RI�WKH�KDUVKHVW�FRQGLWLRQV�

,QVXODWLRQ ± ���´�$UPDIOH[�LQVXODWLRQ�IDFWRU\��LQVWDOOHG�
WR�SUHYHQW�FRQGHQVDWLRQ�
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